
Formulaire de trigonométrie

Mathématiques – Sciences physiques – Chimie – Scien ces industrielles

0

x

rayon = 1

asi
n

a

cosa

ta
n

a

y

10cos =  ; 00sin =  ; 00tan =

2

3

6
cos =π

 ; 
2

1

6
sin =π

 ; 
3

3

6
tan =π

2

2

4
cos =π

 ; 
2

2

4
sin =π

 ; 1
4

tan =π

2

1

3
cos =π

 ; 
2

3

3
sin =π

 ; 3
3

tan =π

0
2

cos =π
 ; 1

2
sin =π

 ; 
2

tan
π

 non définie

( ) aa coscos =−  ; ( ) aa sinsin −=−  ; ( ) aa tantan −=−
( ) aa coscos −=−π  ; ( ) aa sinsin =−π  ; ( ) aa tantan −=−π
( ) aa coscos −=+π  ; ( ) aa sinsin −=+π  ; ( ) aa tantan =+π

aa sin
2

cos =






 −π
 ; aa cos

2
sin =







 −π
 ; 

a
a

tan

1

2
tan =







 −π

aa sin
2

cos −=






 +π
 ; aa cos

2
sin =







 +π
 ; 

a
a

tan

1

2
tan −=







 +π

qp

qp
qp

qp

qp
qp

qpqp
qp

qpqp
qp

qpqp
qp

qpqp
qp

coscos

)sin(
tantan  ; 

coscos

)sin(
tantan

2
sin

2
cos2sinsin

2
cos

2
sin2sinsin

2
sin

2
sin2coscos

2
cos

2
cos2coscos

−=−+=+

−+=−

−+=+

−+−=−

−+=+

a

a
a

a
a

aa

2

2
2

2

2

22

tan1

tan
sin

tan1

1
cos

1sincos

+
=

+
=

=+

( )
( ) bababa

bababa

sin.sincos.coscos

sin.sincos.coscos

+=−
−=+

( )
( ) bababa

bababa

sin.coscos.sinsin

sin.coscos.sinsin

−=−
+=+

ba1

ba
ba

tantan

tantan
)tan(

−
+=+

ba1

ba
ba

tantan

tantan
)tan(

+
−=−

a

a
a

aa

aa

aaa

2

2

2

2

22

tan1

tan1
2cos

sin212cos

1cos22cos

sincos2cos

+
−=

−=
−=

−=

aa2a2 sin.cossin =

a

a
a

2
tan1

tan2
2tan

−
=

a

a
a

a
a

a
a

2cos1

2cos1
tan

2

2cos1
sin

2

2cos1
cos

2

2

2

+
−=

−=

+=

a

a
t

t

t
a

t

t
a

t

t
a

cos1

sin

1

2
tan

1

2
sin

1

1
cos

2

2

2

2

+
=

−
=

+
=

+
−=

où 
2

tan
a

t =


